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QUESTION 1

A DHCP OFFER packet can carry a DNS address, but can only carry one DNS address.
A. Correct

B. Error

Correct Answer: B

QUESTION 2

Refer to the graphic. In order to improve security, the two hosts use IPsec VPN to transmit dat
A. Which IPsec mode and protocol can be used to hide the host\\'s IP address? (Choose two).
B. AH

C. transport mode

D. tunnel mode

E. ESP

Correct Answer: CD

QUESTION 3

Which of the following IPv6 addresses can be configured on a router\\'s interface? (Choose two).
A. fe80:13dc::1/64

B. ff00:8a3c::9b/64

C.:1/128

D. 2001:12e3:1b02::21/64

Correct Answer: AD

QUESTION 4

[R1]display interface GigabitEthernet0/0/0 GigabitEthernet0/0/0 current state : Administratively DOWN Line protocol
current state : DOWN

Refer to the display output. What can be determined based on the output of the display command?

A. Interface Gigabit Ethernet 0/0/0 is connected to a wrong cable
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B. Interface Gigabit Ethernet 0/0/0 is not associated with an IP address
C. Interface Gigabit Ethernet 0/0/0 is not associated with a dynamically defined route.
D. Interface Gigabit Ethernet 0/0/0 has been manually shut down by an administrator.

Correct Answer: D

QUESTION 5

As shown in the figure, RTA is a DTE device connected to a frame relay switch. If RTA uses dynamic mapping to
establish a PVC connection, which of the following These commands do not need to be configured on the RTA?
(multiple choice)

DLCI 30
RTA FRSW

Serial 1/0/1
- -
1152.‘]__;'6.1.1.1’231"' il
DTE

A. [RTA-Seriall/0/1] ip address 172.16.1.124
B. [RTA-Serial1/0/1]link-protocol fr

C. [RTA-Seriall/0/1]fr interface-type dte

D. [RTA-Serial1/0/1]fr inarp

Correct Answer: CD
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